
öü%öy ≤ÃŸ¿˛õe

•y•z üyoy§y ˛õÓ˚#«˛yÈÙÈ2017

ç#Óö!ÓK˛yö Ä ˛õ!Ó˚̂ ÏÓ¢

˛õ)î≈üyö ı { 90ÈÙÙÙ!öÎ˚!üï˛ ˛õÓ˚#«˛yÌ≈#ˆÏòÓ˚ çöƒ

                             100ÈÙÙÙÈÓ!•Ó˚yàï˛ ˛õÓ˚#«˛yÌ≈#ˆÏòÓ˚ çöƒ §üÎ˚Èı 3 ârê˛y 15 !ü!ö˛ê˛

Sò,!T˛•#ö ˛õÓ˚#«˛yÌ≈#ˆÏòÓ˚ çöƒ 4 (ii) öÇ ≤ÃˆÏŸ¿Ó˚ !ÓÜ˛“ ˆòÄÎ˚y xyˆÏåÈ–V

[Ó!•Ó˚yàï˛ ̨õÓ˚#«˛yÌ#ˆÏòÓ˚ çöƒ x!ï˛!Ó˚=˛ S≤ÃŸ¿ öÇ 5 ~ÓÇ 6V ̂ òÄÎ˚y xyˆÏåÈ–]

˛!Óû˛yàÈÙÈ Ü˛

1. §!ë˛Ü˛ í˛z_Ó˚!ê˛ ˆÓˆÏåÈ !öˆÏÎ˚ ÓyÜ˛ƒ!ê˛ §¡õ)î≈ Ü˛ˆÏÓ˚ ˆ°ˆÏáyı 1 × 15 = 15

(i) ÚÚ!çö ÓƒyÇÜ˛ÛÛ !ö¡¨!°!áï˛ ˆÜ˛yö‰!ê˛Ó˚ í˛zòy•Ó˚îÈÙÙÙÈ

(a) •zöÈÙÈ!§ê%˛ §ÇÓ˚«˛î (b) •ê˛flõê˛

(c) ~:!§ê%˛ §ÇÓ˚«˛î (d) xû˛Î˚yÓ˚îƒ

(ii) í˛zˆÏê˛Ó˚ Úç° Ì!°Û xÓfiÌyö Ü˛Ó˚̂ Ïï˛ ˆòáy ÎyÎ˚ ï˛yÓ˚ÈÙÙÙÈ

(a) ÜÑ˛%ˆÏç (b) ˛õyÜ˛fiÌ°#ˆÏï˛

(c) ÎÜ,˛ˆÏï˛ (d) Ó˚=˛çy°ˆÏÜ˛

(iii) x!öÎ˚!sfï˛ ˆÜ˛y¢ ã˛ˆÏÜ ˛Ó˚ ú˛ˆÏ° §,!T˛ •Î˚ÈÙÙÙÈ

(a) üƒyˆÏ°!Ó˚Î˚y (b) Ü˛ƒy™yÓ˚

(c) çµÓ̊ (d) !ê˛í˛züyÓ˚ Ä Ü˛ƒy™yÓ˚

(iv) Óyï˛yˆÏ§ !ö¡¨!°!áï˛ ˆÜ˛yö‰ àƒyˆÏ§Ó˚ Ó,!ÂôÓ˚ çöƒ Úx¡‘ Ó,!T˛Û •Î˚ÈÙÙÙÈ

(a) CO
2

(b) CH
4

(c) SO
2

(d) CO

(v) üyö%ˆÏ£ÏÓ˚ Ü˛!î≈Î˚y ˆòáy ÎyÎ˚ÈÙÙÙÈ

(a) Ü˛yˆÏö (b) ˆã˛yˆÏá

(c) ü!hflÏˆÏ‹Ò (d) §%£Ï%¡¨yÜ˛yˆÏ[˛

(vi) ˆÜ˛yÓ˚̂ ÏÜ˛yò‰àü ˛õÂô!ï˛ˆÏï˛ ÓÇ¢!ÓhflÏyÓ˚ Ü˛ˆÏÓ˚ÈÙÙÙÈ

(a) xƒy!üÓy (b) û˛°û˛:

(c) •zT˛ (d) !˛õÑÎ˚yç
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(vii) ÚÓƒÓ•yÓ˚ Ä xÓƒÓ•yÓ˚ÈÙÙÙÈ~•z ôyÓ˚îyÓ˚ ≤ÃÓ=˛y ˆÜ˛⁄

(a) û˛ƒy•z§üƒyö (b) °ƒyüˆÏÜ≈˛

(c) í˛yÓ˚í˛z•zö (d) !í˛ÈÙÈº#§

(viii) !ö¡¨!°!áï˛ ˆÜ˛yö‰!ê˛ Ú!á fiê˛üy§ ˆÓ˚yàÛ öyˆÏüÄ ˛õ!Ó˚!ã˛ï˛ÈÙÙÙÈ

(a) Óî≈yrôï˛y (b) !•ˆÏüy!ú˛!°Î˚y

(c) Ìƒy°y§!üÎ˚y ˆüçÓ˚ (d) Ìƒy°y§!üÎ˚y üy•zöÓ˚

(ix) xƒy!üÓyÓ˚ àüö xAà •°ÈÙÙÙÈ

(a) !§ê˛y (b) «˛î˛õò

(c) úœ˛yˆÏç°y (d) ˛˛õy

(x) üyö%ˆÏ£ÏÓ˚ ˆÎÔö ˆÜ ˛yˆÏüyˆÏçyü §Çáƒy •°ÈÙÙÙÈ

(a) 46 (b) 23

(c) 44 (d) 2

(xi) Ú•zí˛zˆÏê˛∆y!ú˛ˆÏÜ˛¢öÛ •° ~Ü˛ ôÓ˚̂ ÏöÓ˚ÈÙÙÙÈ

(a) üy!ê˛ ò)£Ïî (b) ÓyÎ˚% ò)£Ïî

(c) ç° ò%£Ïî (d) ¢∑ ò)£Ïî

(xii) üyö%ˆÏ£ÏÓ˚ Ó,ˆÏE˛Ó˚ í˛z˛õˆÏÓ˚ ˆÎ xhsˇÉ«˛Ó˚y @ˇÃ!rÌ ÌyˆÏÜ˛ ï˛yÓ˚ öyü •°ÈÙÙÙÈ

(a) Ìy•zÓ˚̂ ÏÎ˚í˛ (b) x@¿ƒy¢Î˚

(c) xƒy!í»̨ öy° (d) !˛õê%˛•zê˛yÓ˚#

(xiii) !¢¡õy!OˆÏòÓ˚ ï˛#«÷˛ òÑyï˛à%ˆÏ°yÓ˚ öyü •°ÈÙÙÙÈ

(a) ˆüy°yÓ˚ (b) !≤ÃˆÏüy°yÓ˚

(c) Ü˛ƒyöy•zö (d) •zö§y•zçyÓ˚

(xiv) üy•zˆÏê˛y!§§ ˆÜ˛y¢ !Óû˛yçˆÏöÓ˚ ˆÎ ò¢yÎ˚ !öí˛z!Üœ̨ Î˚y§ ˛õò≈yÓ˚ ˛õ%öÓ˚yÎ˚ xy!Óû≈˛yÓ âˆÏê˛ ï˛y •°ÈÙÙÙÈ

(a) ≤ÃˆÏú˛ç (b) ˆüê˛yˆÏú˛ç

(c) xƒyöyˆÏú˛ç (d) ˆê˛ˆÏ°yˆÏú˛ç

(xv) !m§ÇÜ˛Ó˚ çöˆÏö ˆê˛fiê˛ Ü ˛ˆÏ¢Ó˚ (Test Cross) xö%˛õyï˛ •°ÈÙÙÙÈ

(a) 9 ı 3 ı 3 ı 1 (b) 1 ı 1 ı 1 ı 1

(c) 3 ı 1 (d) 1 ı 1

!Óû˛yàÈÙÈ á˛

2. x!ï˛§Ç!«˛Æ ≤ÃŸ¿à%!°Ó˚ í˛z_Ó˚ òyÄı

(a) ~Ü˛ Ü˛ÌyÎ˚ Óy ~Ü˛!ê˛ ÓyˆÏÜ˛ƒ í˛z_Ó˚ òyÄ SˆÎÈÙÈˆÜ˛yˆÏöy xyê˛!ê˛V 1 × 8 = 8

(i) ç#Ó ˜Ó!ã˛ˆÏeƒ Ú•ê˛flõê˛Û ôyÓ˚îy!ê˛Ó˚ ≤ÃÓï≈˛Ü˛ ˆÜ˛⁄

(ii) Ÿªy§ü)° ˆÜ˛yö‰ í˛z!qˆÏò ˆòáy ÎyÎ˚⁄

(iii) ü%ˆÏáÓ˚ Ü˛ƒy™yˆÏÓ˚Ó˚ ~Ü˛!ê˛ Ü˛yÓ˚î ˆ°ˆÏáy–
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(iv) ˛õ!Ó˚Óƒ!=˛ S!üí˛zˆÏê˛¢öV Ü˛yˆÏÜ˛ ÓˆÏ°⁄

(v) flõ¢≈ Ü˛Ó˚̂ Ï° °IyÓï˛# í˛z!qˆÏòÓ˚ ˛õyï˛yÓ˚ ˛õeÜ˛à%!° û˛Ñyç •ˆÏÎ˚ ÎyÎ˚ ÈÙÙÙÈ ~!ê˛ ˆÜ˛yö‰ ôÓ˚̂ ÏöÓ˚ ã˛°ö–

(vi) üyö%ˆÏ£ÏÓ˚ xˆÏê˛yˆÏçyü myÓ˚y Óy!•ï˛ ~Ü˛!ê˛ ÓÇ¢àï˛ ˆÓ˚yˆÏàÓ˚ öyü ˆ°ˆÏáy–

(vii) ˆÜ˛yö‰ ôÓ˚̂ ÏöÓ˚ ˆÜ˛y¢ !Óû˛yçöˆÏÜ˛ •…y§Ü˛Ó˚î !Óû˛yçöÛ Ó°y •Î˚⁄

(viii) ò%!ê˛ Ú!@ˇÃö •yí˛z§Û àƒyˆÏ§Ó˚ öyü ˆ°ˆÏáy–

(ix) ÚˆÜ ˛§ˆÏÜ˛y@ˇÃyú˛ ÎsfÛ ˆÜ˛ xy!Ó‹ÒyÓ˚ Ü˛ˆÏÓ˚ö⁄

(b) ¢)öƒfiÌyö ˛õ)Ó˚î Ü˛ˆÏÓ˚ ÓyÜ˛ƒ!ê˛ §¡õ)î≈ Ü˛ˆÏÓ˚y ı SˆÎÈÙÈˆÜ˛yˆÏöy ˛õÑyã˛!ê˛V 1 × 5 = 5

(i) ——— •° üyö%ˆÏ£ÏÓ˚ !ö!‹;Î˚ xˆÏAàÓ˚ ~Ü˛!ê˛ í˛zòy•Ó˚î–

(ii) DNA ~Ó˚ §¡õ)î≈ öyü •° ———

(iii) ——— •° ˛õ!ÿ˛üÓˆÏAàÓ˚ ~Ü˛!ê˛ xû˛Î˚yÓ˚̂ ÏîƒÓ˚ í˛zòy•Ó˚î–

(iv) ÓÇ¢à!ï˛Ó˚ àë˛öàï˛ Ä Ü˛yÎ≈àï˛ ~Ü˛Ü˛ •° ———–

(v) Ó#ˆÏçÓ˚ §%Æ xÓfiÌy ò%Ó˚#û)˛ï˛ •Î˚ ——— •Ó˚ˆÏüyö myÓ˚y–

(vi) ———  •ˆÏ°ö ÓyˆÏÎ˚yˆÏçˆÏö!ê˛Ü˛ ï˛ˆÏ_¥Ó˚ ≤ÃÓ=˛y–

(c) !öˆÏ¡¨Ó˚ ÓyÜ˛ƒ!ê˛ !ë˛Ü˛ öy û%˛° ˆ°ˆÏáy ı SˆÎÈÙÈˆÜ˛yˆÏöy ˛õÑyã˛!ê˛V 1 × 5 = 5

(i) !˛õê%˛•zê˛y!Ó˚ @ˇÃ!rÌˆÏÜ˛ Ú≤Ãû%˛ @ˇÃ!rÌÛ Ó°y •Î˚–

(ii) •Ñy˛õy!ö ~Ü˛!ê˛ ç° Óy!•ï˛ ˆÓ˚yà–

(iii) Ü ˛!¢ÇÄû˛yÓ˚ âê˛öy!ê˛ !üÄ!§§ ˆÜ˛y¢ !Óû˛yçö ˛õÂô!ï˛ˆÏï˛ §¡õßß¨ •ˆÏï˛ ˆòáy ÎyÎ˚–

(iv) Ìƒy°yˆÏ§!üÎ˚y •° üyö%ˆÏ£ÏÓ˚ ~Ü˛!ê˛ ≤ÃÜ˛ê˛ xˆÏê˛yˆÏçyüy° ˆÓ˚yˆÏàÓ˚ í˛zòy•Ó˚î–

(v) ˛õ!ÿ˛üÓˆÏAàÓ˚ §%®Ó˚ÓˆÏö àu˛yÓ˚ §ÇÓ˚«˛î Ü˛Ó˚y •Î˚–

(vi) •zˆÏÎ˚y!•Øy§ •° ˆâyí˛¸yÓ˚ xy!ò ˛õ)Ó≈˛õ%Ó˚%£Ï–

(d) §¡õÜ≈˛ xö%ÎyÎ˚# ÚÜ˛Û Ä ÚáÛ hflÏˆÏΩ˛Ó˚ ÓyÜ˛ƒyÇ¢ !ü!°ˆÏÎ˚ §¡õ)î≈ ÓyÜ˛ƒ ˜ï˛!Ó˚ Ü˛ˆÏÓ˚y ı SˆÎÈÙÈˆÜ˛yˆÏöy ˛õÑyã˛!ê˛V

1 × 5 = 5

ÚÜ˛Û hflÏΩ˛ ÚáÛ hflÏΩ˛

(i) §Ó˚#§,˛õ Ä ˛õ«˛#Ó˚ ˆÎyçÜ˛ (a) !§Ç•–

(Connective link) •° (b) Óyâ–

(ii) ˆüˆÏu˛°ˆÏÜ˛ Ó°y •Î˚ (c) xˆÏÎÔö çöˆÏöÓ˚ ~Ü˛Ü˛–

(iii) ü!hflÏˆÏ‹ÒÓ˚ ˛õyï˛°y xyÓÓ˚î#ˆÏÜ˛ Ó°y •Î˚ (d) ˆü!ööˆÏç§–

(iv) ˆÓ˚î% •° (e) ÓÇ¢à!ï˛ !ÓK˛yˆÏöÓ˚ çöÜ˛–

(v) û˛yÓ˚̂ Ïï˛Ó˚ !à!Ó˚ xÓ˚̂ Ïîƒ ˆÎ Óöƒ ≤Ãyî# (f) xy!Ü≈˛Ä˛õˆÏê˛!Ó˚:

§ÇÓ˚«˛î Ü˛Ó˚y •Î˚ ï˛y •° (g) ˆÎÔö çöˆÏöÓ˚ ~Ü˛Ü˛–

(vi) û˛yÓ˚̂ Ïï˛Ó˚ çyï˛#Î˚ ˛õ¢%
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!Óû˛yàÈÙÈ à

3. §Ç!«˛Æ í˛z_Ó˚ òyÄ SˆÎÈÙÈˆÜ˛yˆÏöy ÓyˆÏÓ˚y!ê˛V 2 × 12 = 24

(i) ê˛∆!˛õÜ˛ Ä öƒy!fiê˛Ü˛ ã˛°ˆÏöÓ˚ ò%!ê˛ ˛õyÌ≈Üƒ ˆ°ˆÏáy–

(ii) üyö%ˆÏ£ÏÓ˚ Ó,!ÂôÓ˚ ò¢yà%!° í˛zˆÏÕ‘á Ü˛ˆÏÓ˚y–

(iii) à%Ó˚% ü!hflÏˆÏ‹ÒÓ˚ Ä °â% ü!hflÏˆÏ‹ÒÓ˚ ò%!ê˛ Ü˛ˆÏÓ˚ Ü˛yç ˆ°ˆÏáy–

(iv) ˆüˆÏu˛° ï˛yÓ˚ ˛õÓ˚#«˛yÓ˚ çöƒ üê˛Ó˚ àyåÈ !öÓ≈yã˛ö Ü˛ˆÏÓ˚!åÈˆÏ°ö ˆÜ˛ö⁄

(v) §ü§ÇfiÌ xAà Ä §üÓ,!_ xAà Ó°ˆÏï˛ Ü˛# ˆÓyé˛⁄

(vi) ò)£Ïî !öˆÏÎ˚ Ü˛yç Ü˛ˆÏÓ˚̂ ÏåÈö ~üö ò%çö !ÓK˛yö#Ó˚ öyü ˆ°ˆÏáy–

(vii) í˛z!qˆÏòÓ˚ xAàç çöˆÏöÓ˚ ò%!ê˛ §%!Óôy í˛zˆÏÕ‘á Ü˛ˆÏÓ˚y–

(viii) üy•zˆÏê˛y!§§ Ä !üÄ!§ˆÏ§Ó˚ ò%!ê˛ ˛õyÌ≈Ü˛ƒ í˛zˆÏÕ‘á Ü˛ˆÏÓ˚y–

(ix) PBR Ä JFM-~Ó˚ ˛õ%ˆÏÓ˚y öyü ˆ°ˆÏáy–

(x) !ü◊ @ˇÃ!rÌ Ü˛yˆÏÜ˛ ÓˆÏ°⁄ ~Ó˚ ~Ü˛!ê˛ í˛zòy•Ó˚î òyÄ–

(xi) üyöÓˆÏòˆÏ• ¢∑ ò)£ÏˆÏîÓ˚ ò%!ê˛ «˛!ï˛Ü˛yÓ˚Ü˛ ≤Ãû˛yÓ í˛zˆÏÕ‘á Ü˛ˆÏÓ˚y–

(xii) Óö §ÇÓ˚«˛ˆÏöÓ˚ ~Ü˛!ê˛ ˆÜ˛y¢° Ä ~Ü˛!ê˛ ≤ÃˆÏÎ˚yçö#Î˚ï˛y í˛zˆÏÕ‘á Ü˛ˆÏÓ˚y–

(xiii) fl∫̨ õÓ˚yàˆÏÎyà Ä •zï˛Ó˚ ˛õÓ˚yàˆÏÎyˆÏàÓ˚ ò%!ê˛ ˛õyÌ≈Ü˛ƒ ˆ°ˆÏáy–

(xiv) àüˆÏöÓ˚ í˛zˆÏj¢ƒà%!° ˆ°ˆÏáy⁄

(xv) !¢¡õy!OˆÏòÓ˚ ò%!ê˛ xyã˛Ó˚îàï˛ x!û˛ˆÏÎyçö ˆÜ˛Ô¢° ˆ°ˆÏáy–

(xvi) üyˆÏÎ˚yˆÏê˛yü ˆ˛õ!¢ ˆÜ˛yö‰‰ ≤Ãyî#ˆÏï˛ ˆòáy ÎyÎ˚⁄ ~Ó˚ Ü˛yç Ü˛#⁄

(xvii) ˆ§: ˆÜ ˛yˆÏüyçü Óy!•ï˛ üyö%ˆÏ£ÏÓ˚ ò%!ê˛ ÓÇ¢àï˛ ˆÓ˚yˆÏàÓ˚ öyü ˆ°ˆÏáy–

!Óû˛yàÈÙÈâ

4. ö#ˆÏã˛Ó˚ ≤ÃŸ¿à%!°Ó˚ í˛z_Ó˚ òyÄ ı 5 × 6 = 30

(i) !öˆÏ£ÏÜ˛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄ ~Ü˛!ê˛ §˛õ%‹õÜ˛ í˛z!qˆÏòÓ˚ !öˆÏ£ÏÜ˛ ˛õÂô!ï˛ §ÇˆÏ«˛ˆÏ˛õ Óî≈öy Ü˛ˆÏÓ˚y– 2+3 = 5

xÌÓy

üy•zˆÏê˛y!§§‰ˆÏÜ˛ §ü!Óû˛yçö ÓˆÏ° ˆÜ˛ö⁄ ~•z ˆÜ˛y¢ !Óû˛yçö ˛õÂô!ï˛Ó˚ ï˛yÍ˛õÎ≈à%!° ˆ°ˆÏáy– 2+3 = 5

Sò,!T˛•#ö ˛õÓ˚#«˛yÌ≈#ˆÏòÓ˚ çöƒ !ÓÜ˛“ ≤ÃŸ¿V

(ii) üyöÓã˛«%˛Ó˚ àë˛ö §ÇÜ ˛yhsˇ xÇ¢à%!°Ó˚ öyü ˆ°ˆÏáy– ~Ü˛ˆÏöe ò,!T˛ Ä !mˆÏöe ò,!T˛Ó˚ ò%!ê˛ ˛õyÌ ≈Ü˛ƒ ˆ°ˆÏáy–

2+3 = 5

xÌÓy

≤Ã!ï˛Óï≈˛ !Ü ˛Î˚y Ä ≤Ã!ï˛Óï≈˛ ã˛y˛õ Ü˛yˆÏÜ˛ ÓˆÏ°⁄ !Ó!û˛ß¨ ≤ÃÜ˛yÓ˚ ≤Ã!ï˛Óï≈˛ !Ü ˛Î˚yÓ˚ í˛zòy•Ó˚î §• Óî≈öy Ü˛ˆÏÓ˚y–

2+3 = 5
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(iii) ˆçˆÏö!ê˛Ü˛ Ü˛yí˛zˆÏ™!°Ç Ü˛#⁄ ÓÇ¢àï˛ ˆÓ˚yà ≤Ã!ï˛ˆÏÓ˚yˆÏô ~Ó˚ û)˛!üÜ˛y í˛zˆÏÕ‘á Ü˛ˆÏÓ˚y– 2+3 = 5

xÌÓy

ÓÇ¢à!ï˛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄ ˆüˆÏu˛ˆÏ°Ó˚ ~Ü˛ §ÇÜ˛Ó˚ çöˆÏöÓ˚ ˛õÓ˚#«˛y!ê˛ ˆã˛Ü˛yÓ˚ ˆÓyˆÏí≈˛Ó˚ §y•yˆÏÎƒ §ÇˆÏ«˛ˆÏ˛õ ˆ°ˆÏáy–

2+3 = 5

(iv) ˆÜ˛ ≤ÃÌü ˆüÔüy!åÈˆÏòÓ˚ üˆÏôƒ Óyï≈˛y xyòyö ≤ÃòyˆÏöÓ˚ çöƒ ÚˆüÔüy!åÈˆÏòÓ˚Û û˛y£Ïy xy!Ó‹ÒyÓ˚ Ü˛ˆÏÓ˚ö⁄ ˆüÔüy!åÈ ï˛yˆÏòÓ˚

Óyï≈˛y xyòyö ≤ÃòyˆÏöÓ˚ çöƒ Ü˛# Ü˛# !Ó!û˛ß¨ ôÓ˚̂ ÏöÓ˚ öyã˛ ˛≤Ãò¢≈ö Ü˛ˆÏÓ˚⁄ 2+3 = 5

xÌÓy

≤ÃyÜ,˛!ï˛Ü˛ !öÓ≈yã˛ö ï˛ˆÏ_¥Ó˚ ≤ÃÓ=˛y ˆÜ˛⁄ Ä•z ï˛_¥!ê˛ §ÇˆÏ«˛ˆÏ˛õ Ó%!é˛ˆÏÎ˚ ˆ°ˆÏáy– 2+3 = 5

(v) öy•zˆÏê˛∆yˆÏçö ã˛Ü ˛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄ öy•zˆÏê˛∆yˆÏçö xyÓÂôÜ˛Ó˚î ˛õÂô!ï˛à%!° xyˆÏ°yã˛öy Ü˛ˆÏÓ˚y– 2+3 = 5

xÌÓy

ç° ò)£ÏˆÏîÓ˚ !ï˛ö!ê˛ Ü˛yÓ˚î ˆ°ˆÏáy⁄ ç° ò)£Ïî !öÎ˚sfˆÏîÓ˚ ò%!ê˛ í˛z˛õyÎ˚ í˛zˆÏÕ‘á Ü˛ˆÏÓ˚y– 2+3 = 5

(vi) ç#Ó ˜Ó!ã˛eƒ Ü˛yˆÏÜ˛ ÓˆÏ°⁄ üyöÓ ç#ÓˆÏö ~Ó˚ à%Ó˚%cà%!° xyˆÏ°yã˛öy Ü˛ˆÏÓ˚y– 2+3 = 5

xÌÓy

ç#Ó !ÓÓô≈ö Ü˛yˆÏÜ˛ ÓˆÏ°⁄ í˛zòy•Ó˚î §• ç#Ó !ÓÓô≈ö Óƒyáƒy Ü˛ˆÏÓ˚y– 2+3 = 5

              SˆÜ˛Ó° Ó!•Ó˚yàï˛ ˛õÓ˚#«˛yÌ≈#ˆÏòÓ˚ çöƒV 10

5.x!ï˛§Ç!«˛Æ í˛z_Ó˚ òyÄ ı SˆÎÈÙÈˆÜ˛yˆÏöy ã˛yÓ˚!ê˛V 1 × 4 = 4

(a) ˛~Ü˛!ê˛ !ü◊ @ˇÃ!rÌÓ˚ öyü ˆ°ˆÏáy–

(b) !çö Ü˛#⁄

(c) ‘TSH’ ˆÜ˛yÌy ˆÌˆÏÜ˛ «˛!Ó˚ï˛ •Î˚⁄

(d) ã˛y°≈§ í˛yÓ˚í˛z•zˆÏöÓ˚ ºüîÜ˛yÓ˚# çy•yç!ê˛Ó˚ öyü Ü˛#⁄

(e) xy!ò ˆÜ˛yˆÏ¢Ó˚ ~Ü˛!ê˛ í˛zòy•Ó˚î í˛zˆÏÕ‘á Ü˛ˆÏÓ˚y–

6.˛§ÇˆÏ«˛ˆÏ˛õ í˛z_Ó˚ òyÄ ı SˆÎÈÙÈˆÜ˛yˆÏöy !ï˛ö!ê˛V 2 × 3 = 6

(a) ˛ç° Ì!° ˆÜ˛yö‰ ≤Ãy!îˆÏï˛ í˛z˛õ!fiÌï˛⁄

(b) Ó˚í˛ Ä ˆÜ˛yö ˆÜ˛y¢ ˆÜ˛yÌyÎ˚ ˆòáy ÎyÎ˚⁄

(c) ACTH ~Ó˚ §¡õ)î≈ öyü Ü˛#⁄

(d) öy•zˆÏê˛∆yˆÏçö ã˛Ü ˛ à%Ó˚%c˛õ)î≈ ˆÜ˛ö⁄

(e) xƒy:ö Ä ˆí˛öí»˛ˆÏöÓ˚ ~Ü˛!ê˛ ˛õyÌ≈Ü˛ƒ ˆ°ˆÏáy–
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SAMPLE QUESTION PAPER
High Madrasah Examination–2017

Life Science and Environment

Full Marks : [ 90-For Regular  Candidates

                    
   100-For External Candidates    Time : 3hours 15 minutes

(Alternative questions of Q. No. 4(ii) is given for Sightless Candidates)
[Additional question no. 5, 6 are given only for External Candidates]

Group A

1. Complete the sentence by choosing the correct answer: 1× 15 = 15

(i) Which of the following is the example of ‘Gene Bank’

(a) In-Situ conservation (b) Hot-Spot

(c) Ex-situ consenvation, (d) Santuary

(ii) Water saes of camel are situated in its—

(a) Hump (b) Stomach

(c) Liver (d) Blood capillarils

(iii) Uneontrolled cell cycle creates—
(a) Malaria (b) Cancer
(c) Fever (d) Tumour and Cancer.

(iv) Which of the following gas increasement in the air causes “acid rain”—
(a) CO

2
(b) CH

4

(c) SO
2

(d) CO

(v) The cornea is found in the human—

(a) Ear (b) Eye

(c) Brain (d) Spinal cord

(vi) Reproduction by budding occurs in—

(a) Amoeba (b) Volvox

(c) Yeast (d) Onion

(vii) Who is the proponent of the idea of ‘use and disuse’—

(a) Weismann (b) Lamark

(c) Darwin (d) De-Vries
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(viii) Which one of the following disease is Known as ‘Christmas disease’—

(a) Colour blindness (b) Haemophilia

(c) Thalassemia Major (d) Thalassemia Minor

(ix) Locomotory organ of Amoeba is—

(a) Seta (b) Pseudopodium

(c) Flagella (d) Foot.

(x) The number of sex chromosomes in human somatic cells are—

(a) 46 (b) 23

(c) 44 (d) 2

(xi) Eutrophication is a type of—

(a) Soil pollution (b) Air pollution

(c) Water pollution (d) Sound pollution

(xii) The endocrine gland located above the human kidney is—

(a) Thyroid˛ (b) Pancreas

(c) Adrenal (d) Pituitary

(xiii) Name of the sharp teeth of Chimpanzees are —

(a) Molar (b) Premolar

(c) Canine (d) Incizor

(xiv) The stage in which of the mitotic cell division does the nuclear membrane reappear
that is—

(a) Prophase (b) Metaphase

(c) Anaphase (d) Telophase

(xv) In dihybrid cross test cross ratio is—

(a) 9 : 3 : 3 : 1 (b) 1 : 1 : 1 : 1

(c) 3 : 1 (d) 1 : 1

Group B

2. Answer the Very Short Answer Type Question :

a) Answer in one word or in a sentence (any eight) 1× 8 = 8

(i) Who is the proponent of the idea ‘Hot spot’ in biodiversity.

(ii) In which plant pneumatophores are found?

(iii) Write one cause of oral cancer?
(iv) What is Mutation?

(v) The leaflets of the leaf of ‘Touch me not plant’ (Mimosa Pudica) are folded when
a leaf is touched’ What type of movement is it?
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(vi) Write the name of a human hereditary disease which is transmitted through autosome.

(vii) Which type of cell division is known as reductional division.

(viii) Write the name of two green house gases.

(ix) Who discovered the Crescograph instrument?

(b) Fill in the Blank and rewrite the whole sentence : (any five) 1× 5 = 5

(i) ——— is an example of vestigial organ of man.

(ii) The full name of DNA is ———

(iii) ——— is an example of Sanctuary of West Bengal.

(iv) ——— is the structural and functional unit of Heredity.

(v) Dormancy of seeds are removed by ——— hormone.

(vi) ——— is the pryponent of Bio-genetic Law

(c) Write the following sentence is True or False: (Any five) 1 × 5 = 5

(i) Pituitary gland in known as ‘Master gland’

(ii) Asthma is a water born disease.

(iii) The phensmena of crossingover is found to occur in meotic type of cell division.

(iv) Thalassema is an example of autosomal dominance disease of man.

(v) Rhinoceroses are conserved in Sundarban of west Bengal.

(vi) Eohipponus is the ancestor of hourse

(d)Make complete sentences choosing from column ‘A’ in keeping relation with Column
‘B’ (any five) 1× 5 = 5

Column ‘A’ Column ‘B’

(i) The connective link between˛ (a) Lion.

reptiles and bird is. (b) Tiger.

(ii) Mendel is known as (c) the unit of asexual reproduction.

(iii) The thin covering of the brain is (d) meninges

called

(iv) Spore is (e) father of genetics.

(v) The wild animal which conserved in (f) Archaeopterix.

Gir forest in India is (g) The unit of sexual reproduction.

(vi) The National animal of India is
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Group C

3. Answer in brief (any twelve) : 2 × 12 = 24

(i) Write two differences between tropic movement and nastic movement.
(ii) Mention the stages of human growth.

(iii) Write two functions of cerebrum and cerebellum.
(iv) What are the reasons for choosing the pea plants by mendel in his experiment.
(v) What do you ment by homologous and analogus organs?

(vi) Write the name of two secientists who worked on pollution?

(vii) Write two merits of vegetative reproduction in plants.

(viii) Mention two differences between Mitosis and Meiosis.

(ix) What are the full name of PBR and JFM.

(x) What is mixed gland? Give an example of it.

(xi) Mention two harmful effects of sound pollution in human body.

(xii) Mention one technique and one utility of forest conservation.

(xiii) Write two differences between self pollination and cross pollination

(xiv) What are the purposes of movement.

(xv) Write two adaptive behavioural devices of chimpanzee.
(xvi) In which animal do you find myotome muscles?
(xvii) Write the name of hereditary diseases of man which is transmitted through sex

chromosome.

Group D

4. Answer the following questions : 5 × 6 = 30

(i) What is fertilization? Briefly derseribe the process of fertilization of a flowering plant.

2 + 3 = 5

Or

Why mitosis cell division is known as equitional division? Write the significances of

it. 2 + 3 = 5

[For Sightless Candidates]

(ii) Write the names of structural parts of Human eye. Write two differences between
monocular and Binocular vision. 2 + 3 = 5

Or

What is reflexation and reflex are? Describe different types of Reflexation with example.
2 + 3 = 5
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(iii) What is genetic counselling? Mention the role of its for preventing hereditory diseases.

2 + 3 = 5

Or,

What is heredity? Write in brief Mendels Monohyebrid cross experiment with the helf
of checker board. 2 + 3 = 5

(iv) Who first discovered the communication among the bees throngh bee dance body
language? What are the different types of ‘bee dance’ performed by the bees for
communication among them. 2 + 3 = 5

Or

Who is the proponent of the theory of Natural selection? Explain that theory in brief.
2 + 3 = 5

(v) What is ‘Nitrogen cycle’? Discuss the various processes of nitrogen fixation.

2 + 3 = 5

Or,

Write three causes of water pollution. Mention two control measures of water pollution.
2 + 3 = 5

(vi) What is Bio-magnification? Discuss the importacnes of it in human life. 2 + 3 = 5

Or,

What is Bio-magnification? Explain the Bio-Magnification with example. 2 + 3 = 5

(Only for External Candidates) 10

5. Answer in very Brief : (any four) 1 × 4 = 4

(i) Write the name of mixed gland?

(ii) What is gene.

(iii) From where does TSH secrete?

(iv) What is the name of the ship that was used by Charles Darwin?

(v) Cita an example of prokaryatic cell.
6. Answer in Brief : (Answer any three questions) 2 × 3 = 6

(i) In which animal the water sac is found?

(ii) Where do you find the rod and con cells.

(iii) What is the full name of ACTH?

(iv) Why is Nitrogen Cycle important?

(v) Write one difference between Axon and Dendron?
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